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SRR | 1 EGE | sxmmenn | S ARMER| 8xrommam SR HExHEE M= BRBSs| BH (BRI ERhiRE
mm MJ MJ hPa
1:00[ & 0.1[7&ItF 17|74 8 81.5 0 0 0 0 0 0] 10208 722
2:00[#ER 0.1]F 13[4t 7.3 83.9 0 0 0 0 0 0] 10208 724
3:00|F 8 0.5(@Pa 1.2|FR R 7.3 86.2 0 0 0 0 0 0] 10205 726
4:00| SR HESGES AESES 7.2 88 0 0 0 0 0 0] 1020.6 72.8
5:00(FF 0.7[%& PRIES 7.2 87.5 0 0 0 0 0 0] 10209 73
6:00[ 5 0.7|FaRA [BETES 7.6 87.2 0 0 0 0 0 o] 10213 732
7:00|FER 0.7[mE 1.4[FIR 7.9 86.9 0 0 0 0 0 o] 10217 734
8:00| = ® 0.6|%= [ETES 9.2 85.9 0 0 0 0 0.13 0.13] 10223 736
9:00| &L 0.6[EILE 1.2|F®R 11.3 80.8 0 0 0 0 0.21 0.35] 10225 73.7
10:00[FadL 7 2.4|FEILFAE 43| 13.8 62.9 0 0 0 0 0.36 071 10227 735
11:00|FEIL T 2.3|FILFE 44|78 14.8 58.4 0 0 0 0 0.7 141 10223 733
12:00(78 26|78 52|F 16.1 54.2 0 0 0.6 15 291 1021.6 73
13:00 [t 3.6[FEILFE 7|dL 17.7 43.6 0 0 0.9 1.91 482  1021.1 726
14:00 (4L FH 4.6|FdL 7 9.3]7 17.7 38.6 0 0 1 1.94 6.76 721
15:00 [Fa 4L P 49|31t 10.3|F LA 17 40.4 0 0 1 1.36 8.12] 1021.8 71.6
16:00[78 4|/ 9.2|FILFE 16.1 38.7 0 0 1 0.81 8.93| 1022.8 71.1
17:00[F8 2.3|7 7.5|7 14.1 43.9 0 0 2 0.11 9.04] 1022.9 70.7
18:00 AL FH 0.6[7 3.3]F 1.5 57.6 0 0 0 0 9.04] 10235 705
19:00[FadL A 29|FEILFE 5.7t 12.8 415 0 0 0 0 9.04] 10247 70.1
20:00| LA 3.5|FdLFE 6.9|FEILFA 124 416 0 0 0 0 9.04] 10257 69.7
21:00[78 2.6(FEILFE 94|78 115 458 0 0 0 0 9.04] 1026.3 69.3
22:00|FHILF 24|78 5.1|FadL 10.3 51.9 0 0 0 0 9.04]  1026.6 69
23:.00|FILFE 1.8|FdL T 4.4|FEILFE 8.9 59.9 0 0 0 0 9.04] 1026.7 68.9
24:00:00 AL TH AGCEd 3.4[FEItFE 8.4 62.4 0 0 0 0 9.04]  1026.5 68.8
HAE
1R R | 1 BGR | sxmmenn | S ARMEE| Sxromam B HERNEE W= BEBSs| BH [HtKE ERE
% mm MJ MJ hPa %
£35S 1.9 11.5 62.9 1022.8 71.7
X i ] 5.9/t 10.3|FILF 18.1 89.4 1026.8 73.8
HCRF 14:28 14:21 13:46 3:34 9:27
=& 6.7 34.7 1020.4 68.7
HCRF 4:48 14:24 22.07
[ 0 9.03 9.04
BRSEE (%)
[ dedbsm [ JesE [ bR | &= | @ | | mmE | fra | papara | [ FEdLAE | E[4 R | k&‘
AREEES1—)] 0.3] 0.7] 1.3] 3.2] 6.6] 2.3] 2.4] 36.8] 0.2] 6.3] 0.2




